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- lost_msg =3

- translation_delay = 1

- bpdu_delay = 1

- msg_verofit = 1

- Tx_halt_delay = 1

- med_access_delay = 0.5
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= ((lost_nsg + 1) x hello) + ((BPDU Delay x (dia — 1)) + ((dia — 1)
X overestimate_per_bridge) + (dia x transit_delay) + med_access_del ay
+ Maxi mum transm ssion_halt_delay) / 2

= ((4 x hello) +dia-1+dia-1+dia+05+1)/ 2

= ((4 x hello) + (3 x dia) — 0.5) / 2
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max_age = (4 x hello) + (2 x dia) — 2

forward_delay = ((4 x hello) + (3 x dia)) / 2
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hello = 2 (default) then
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forward_delay = 10 sec

If hello = 1 then
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forward_delay = 8 sec
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Taras> (enabl e) set spantree root 8 dia 4 hello 2
VLAN 8 bridge priority set to 8192.

VLAN 8 bri dge max aging time set to 14.

VLAN 8 bridge hello tinme set to 2.

VLAN 8 bridge forward delay set to 10.

Switch is now the root switch for active VLAN 8.
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